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» Please check that this question paper contains 16 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

» Please check that this question paper contains 30 questions.
* Please write down the Serial Number of the question before attempting it.

* 15 minutes time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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(i)  eI% J99 & GIH7 373 37% 9T 13 & |
(iii) 97 G&IT 1-5 37 16-20 377 TG 37T J97 8, J4% 97 1
37 F 81 G F¥1 3 I Uk JTFRT 7 347 8 /

(iv)  To7 G&IT 6-8 3K 21-23 T IR 7 &, F% J97 3 37 &
&1 gyt g5 & I GIHI=IA: 60 Yo @ F T & |

(v) T GEIT 9—11 3R 24-26 T8 ¥ 7T IFIT T &, I3 J97 &

4 3% 8 | @ F51 3 FoK GrET=Ia: 70 Jeql & 39F T &1/

i) ¥ GEIT 12-15 37K 27-30 5 3709 J97 &, I9F J97 & 6
37% & | @t F571 @ 3T GIHI=Id: 100 F1551 G 3717 T &1/

(vii) 3IRIE o9 F IR TRIG TI F& & TNRT TAT JIEGIT
[79TFER 3158 GIHT % Hiat I 197 ST =118 /|

Instructions :

(i)  All questions in both the sections are compulsory.
(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer

questions carrying 1 mark each. They are required to be

answered in one sentence.

(iv)  Question No. 6 — 8 and 21 — 23 are short answer questions

carrying 3 marks each. Answers to them should not normally

exceed 60 words each.
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(v)  Question No. 9 — 11 and 24 — 26 are also short answer

questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

(vi)  Question No. 12 — 15 and 27 — 30 are long answer questions

carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

Qusg - A
Section - A
1. S9-S5 U Hi= il AR goal dieft {@n ai 9% W gy 91 3 S aeld
3, s o) e o« (e e i) I

(27) R =t ?
(o) fireft st 2
(&) gl STl @
(3) & H firet 2, foR welt 2

As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct
alternative)

(a) remains unchanged

(b) goes on falling

(c) goes on rising

(d) falls initially then rises

58/1/3 3 [P.T.O.
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2. TSR "I <kl gitemy e | 1

Define market demand.

3. = fafy g0 9 W W T awg I 9 dACER © | 396! hiHd wHed
W : (T fosheq gHw) 1

31) 38 W U 0 =5 | IS Iiad Tl B |

&) 39 T TR T = S |
) 38 W R T = ue |

T) IWE U A s ot |

(
(
(
(

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :

(choose the correct alternative)

(a) no change in expenditure on it.
(b) increase in expenditure on it.
(c) decrease in expenditure on it.

(d) any one of the above.

4. ITCUTYRR <hl Shig Ueh foIRISdT SdTsy | 1

State any one feature of oligopoly.

5. 3ftud Guifed (3T SR hiHd TeT seR Bld & : (Tl foeheu gfu) 1
31) shaet ot gfernfirar & stafa

) hacd TSHITIRRIcHS TN & ST

T) Fad THITFHR & =i

g) Tft TR & oI |
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Average revenue and price are always equal under : (choose the

correct alternative)

(a) perfect competition only
(b) monopolistic competition only
(c) monopoly only

(d) all market forms

6. 8 3IcUTeH R ohl THEIT hl SUTEAT ShifST | 3

Explain the problem of ‘how to produce.’

7. IcITEH THTEHT THHT (956 o 31ef SR foivaTd samsy | 3

State the meaning and properties of production possibilities

frontier.

8. IyAIfiar fovcivw i wemar € feEmsy for w awg & wi 3R g
ima ¥ fowia grere 2iar 8 | TWEse | 3

AT

STTHT Ik h1 @l SRUTTcHeh 41 Bidl & ¢ gHeSU |

Show that demand of a commodity inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.
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9. Udh 32T <hl TEAT § STOHM HHTd TTTEATI ST kT 37 9Hesu | 4

Explain the meaning of diminishing marginal rate of substitution

with the help of an example.

10. FT 3G o YR W IiEd] Igamar o I & i =xor samsu |
@A 1 SR I | 4

AT

qfd el ShHd M |G shi saTifae it gmesmse | W@ &1 =
i |

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of
supply. Use diagram.

g whenfeiat & forg wea dwar 10 F A W
aftaret STguTal o oM o fafsm =@ we aforenrt i gemaT @ SamET |

HAYAT

gfdd # e SR qfd 31 AT § e ok s STat sy |
For blind candidates in lieu of Q. No. 10.

State different phases of the law of variable proportions with the
help of a schedule.
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Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

11. THTIhRIcHS TfGTdr < ‘o o ety gawr o) sfefas’ foswdr &

gioTHt St sHret hifs | 4
Explain the ‘free entry and exit of firms’ feature of monopolistic
competition.
12. Tr=fafaa arferst st qu shifsg 6
3G | el AFTA | T IiEd! arTd | i arTa | o7 fer amm
(zPr) | (7)) (%) (%) (%)
0 30
1 20
2 68 - - —
3 84 18 - -
4 --- --- 18 ---
5 125 19 - 6
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Complete the following table :

Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 --- - —
3 84 18 —- —
4 - - 18 -—-
5 125 19 —- 6

13. o%q Y a%q X ol fceend= g 2 | Y 3l hiHd = STl © | 38 qiaaH
T X o ST B4 a1l TTat Y a1 ht SR hifvi | 6

AYAT

T %] o Gd ST shi IGeh! Ao hiFd W THTET hi @l
STEAT ST |

Good Y is a substitute of good X. The price of Y falls. Explain the
chain of effects of this change in the market of X.

Or

Explain the chain of effects of excess supply of a good on its

equilibrium price.
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14. I%g X &I &md s 10 Jfawrd gecdft @ @ 39l Wi 150 S 9
TRt 180 SohTS B STt & | TR AT hl ShiFd I o1 Teheld shilSU |
Tgeh! ShiAd ford gfasrd = for sEehl AT 150 SIS € 210 S &
e ? 6

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so
that its demand rises from 150 to 210 units ?

15. dmrd amra R Hmig ety () ot @ 3cared &1 98 T 91
Fifve fom W Icares e i fafd 7 21 31 3w % faw srw

i | 6
3cqTE (3TS) 1| 23] 4|5 1|6
3ATTa 9Ty (%.) 20 | 20 | 20 | 20 | 20 | 20
Fel AN (.) 22 | 42 | 60 | 76 | 96 | 120

Using marginal cost and marginal revenue approach, find out the
level of output at which producer will be in equilibrium. Give

reasons for your anSwer.

Output (Units) 1 2 3 4 5 6

Average Revenue (Rs.) | 20 20 20 20 20 20

Total Cost (Rs.) 22 | 42 60 76 9 | 120
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©Ug - 9

Section - B

16. T9I T T ST ST Tk ¢ : (e forshed gfw) 1
(31) S T TR
() W el ook BT SERRT STasfe s
(|) oha 1Y ST SR
(3) Iudih o foreft o6 g 1

Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

17. 1<k SUSTR o1 379f SId1EU | 1

Give the meaning of involuntary unemployment.

18. T e o1 37ef Famsy | 1

Give the meaning of balance of payments.

58/1/3 10

Downl oaded From : http://cbseportal . conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

19.

20.

21.
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VS Sehi Rl ST FHoT STHIST T S AT TRATT 56 ofsh o T
TEAT BT & 39 : (T faehed giw) 1

(31) Hifafersh qietar STgUTd Fed &

() ST ST HeEd &
(|) TRfad Fohg T
(]) STfeh Iy 31U

The ratio of total deposits that a commercial bank has to keep with

Reserve Bank of India is called : (choose the correct alternative)
(a) Statutory liquidity ratio

(b) Deposit ratio

(c) Cash reserve ratio

(d) Legal reserve ratio

TSTeh Y1 &1 T BT & 7 1

What is fiscal deficit ?

srf<m aEgetl 3R mevad awgeti # 98 HINT| I F1 TH-TH
ERUKIS I 3

Distinguish between final goods and intermediate goods. Give an

example of each.
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TS o Yol 999 1Y GHeS | 3

HAAT

ST AT b1 A 7R 3Gk T sy |

Explain the store of value function of money.

Or

State the meaning and components of money supply.

U I T 3TN AT U T ik L 1 STUR THIATET | ITTETT
SIS 3

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.

g1 Soh “TTRT o1 Sl oh 1Y shl SITEHT ShIfSTU | 4
ST

ST AT oh e § " 1 & (If geiie ®) i fien i e

e |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.
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25. GHITSY fohl YohR TThRR] SISTe 3T ToraTor shl THTfId shi Hehdl & ? 4

Explain how government budget can be used to influence

distribution of income ?

[N e NI e

26. TH AYFGEYT oW W ¢ | HHGREgd Thel § @ 3UE
Uieher ShifeTe : 4

(i) 3™ = 10000

(ii) EETa e 99 = 0.2

(i) &1 = 1500

An economy is in equilibrium. From the following data calculate
autonomous consumption.

(1) Income = 10000

(i) Marginal propensity to save = 0.2

(i) Investment = 1500

27. < FHI o Fh o €9 § ohdl Q1 3cqg it R-fses fafm’

e ohl ATE i | 6
arera

31 ok TS IS 1 IThaH hid GHT HHTAIRad o §1 F1 T8

T ? 3T I o [T R0 SIS -

() 2Tk ook <kl TorawTl H STRETSTl g0 ST ore

(&) TSt g et sl Tt foam w fu T 3uer
)

(@) fash wieai g0 @t T 9mE
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Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(c) Purchase of goods by foreign tourists

28. M wiifsie Tk e 5 Fhg’ 900 I %. © 3R HHid 399 Y9 0.6
2, 1 Uk <t ik THeIT | 6

Assuming that ‘increase’ in investment is Rs. 900 crore and
marginal propensity to consume is 0.6, explain the working of

multiplier.
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29. () ISR e W e TP 3c0me 31N (@) Tohel UL JAIST AT

qiehet shifST ; 6
(%. Sl H)

(i) | =ehat oxff s/ it fmio 400

(i) | Tosft srfm 3o = 8000

(i) | FER AT~ 3ud =T 3000

(iv) |%eie® ¥ gfEdd 50

(V) | /= YSh o1 3UEA 40

(vi) |fraa sucae 100

(vii) | fraet frrta (-) 60

(viii) | fosi o0t faer e o (-) 80

(ix) | foesm & faa =] & 100

(x) | 100
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Calculate (a) net national product at market price and (b) gross

national disposable income :

Rs. in crores
(1) Gross domestic fixed capital formation 400
(i1) | Private final consumption expenditure 8000
(i11)) | Government final consumption expenditure 3000
(iv) | Change in stock 50
(v) | Consumption of fixed capital 40
(vi) | Net indirect taxes 100
(vii) | Net exports (-) 60
(viii) | Net factor income to abroad (-) 80
(ix) | Net current transfers from abroad 100
(x) | Dividend 100

30. fosft ga1 1 s e W IHAR 9 FA Tl g S gfd o dedl 2 7
HHEATRU |

Why does the demand for foreign currency fall and supply rises

when its price rises ? Explain.

58/1/3

16

Downl oaded From : http://cbseportal . conf

Courtesy :

CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

